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7
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ST ny )R 350kg/m2L4 |
(H. W. L~255 K i)
m2 2,302 15, 165 34, 909, 830
ST ny )R 350kg/m2L4 |
m2 16, 075 15, 929 256, 058, 675
ST ny )R 350kg/m2L4 |
(GRIF3E+= REY)
m2 340 17, 742 6, 032, 280
ST ny )R 350kg/m2L4 |
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m2 384 15, 929 6,116,736
7 VER AN IO AET 0y ) g 30cm m& 50cm
m 14 22,076 309, 064
7" Vi A M (RREE) 77 ny) MH 30cm ®E 50cm
m 160 20, 871 3, 339, 360
7" VEYAMIER 7 1y ) IH 30cm @& 50cm
m 729. 20, 871 15, 221, 220
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m2 23 3, 024 69, 552
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TR T S 44 A
m3 31 21, 202 657, 262
R SD345 D13
t 1.19 186, 440 221, 863
R SD345 D16~25
t 0.23 184, 508 42, 436
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m2 5 5, 376 26, 880
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= 1 735, 633
i BRLR Y NLE

= 1 97, 766
SR F=<40kN/m2[t =120cm]

= 1 9,737
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¥Layy)-h 18-8-40 (F47) BWJE 20c m

m2 39 5, 908 230, 412
PCFR IE P 100 c m A 100 c m BRiR

B 5.03t

m 26. 387, 329 10, 264, 218
"l & D fkF fEOVE100mm $£ T 5 100mm

T 2 988, 339 1,976, 678
fifEa" A7 v=h fiF O 100mm P4 F #:100mm

T 2 813,677 1,627, 354
JKEERED ) 20WX 10t 2R 9E

m 11 1,952 21, 472
T =tk D16 XD16

T 40 2,328 93,120
TH=E Wb SD345 D32 L=500mm

VN 2 9, 782 19, 564
2= SD345 D13 L=530mm

VN 36 756 27,216
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77 79 M-V T
= 1 653, 184
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SR L
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= 1 296, 536
HRPE (REIKT) B LA M LoIm 7Vh= VhEE BBLE
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= 1 219, 033
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)
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)
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Rk E T
= 1 1, 689, 791
EZELT
= 1 13,651
IRIE +H
= 1 6, 264
MRL +w
= 1 7,387
MEE: T
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= 1 492, 602
7" Vv A MRS B
m2 12 29, 834 358, 008
BUGFTRCH (FRRE) 2770 - 24-8-25(20) (F&4F)
m3 2 67, 297 134, 594
MEE: T
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= 1 552, 437
7" Vv A Mo B
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BUGFTRCH (FRRE) 270 - 18-8-40 (i 47)
m3 2 66, 616 133, 232
T EikiE 1T
= 1 631, 101
HLIE®K A HLE®OKR AME 139. 8mm HLIL DK
“AMEE 1100mm
ZN 3 210, 367 631, 101
EEME T
= 1 3,124, 788
EELT
= 1 1, 820, 108
IRIE -
= 1 123, 496
MRL
= 1 1, 696, 612
s BUE L L
= 1 796, 016
av)) - M IS BUE L IEATHEEY) B L
m3 104 7, 654 796, 016
TE AL T
= 1 508, 664
PHau kil vy - (TR
m3 104 1,215 126, 360
AL Gy vy =ik (TR
m3 104 3,676 382, 304
ER A A T
= 1 185, 289, 778
FRARBRIR T
= 1 185, 289, 778
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AR T (A A (%)

m2 9, 300 296. 2, 758, 380
AR T (A S

m2 21, 600 312. 6, 752, 160
PN 1= (5%

m2 9, 300 129. 1,207, 140
PN 1= g

m2 21, 600 129. 2,803, 680
WGy By i

t 1,391 11, 042 15, 359, 422
WGy By 1R

t 2,781 13, 803 38, 386, 143
WGy By (533

t 1, 854 11, 042 20, 471, 868
WGy By r

t 2,163 14, 723 31, 845, 849
WGy By PR

t 2, 856 23, 006 65, 705, 136

% T
= 1 171, 235, 518
THEMAERK T

[J1zE]

= 1 3,996, 713
peaill RC-40 #JE 100mm

= 1 174, 611
T8 B

= 1 436, 043
= A7 T70y A

= 1 1, 355, 719
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= 1 1, 309, 901
Bk b 22X 1, 524X 6, 096 (mm) 7 - =
= 1 720, 439
THEMAERK T
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= 1 11,371, 125
T8 B R
= 1 9, 755, 085
peaill RC-40 #JE 100mm
= 1 1, 616, 040
B R B T
= 1 134, 365, 610
K+ 5 RUE - BRE - R
= 1 79, 791, 585
WEEER 2t (EHAMERETY) Wi A ST ER R
iz
= 1 54, 574, 025
PEIT i % 1.
= 1 18,073, 845
IRHE +H
= 1 27, 395
MRL
= 1 149, 152
PR (L) B - 4. omPd |
m3 1, 300 1,329 1,727, 700
= A7 770y A
m 114 28, 177 3,212,178
/7)) -hk 18-8-40 (#47) t=200mm
m2 1, 665 7,148 11, 901, 420
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K EE T
= 1 1, 352, 327
IR PEKE
= 1 840, 060
TR
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= 1 74, 753
RIEE T
= 1 2,075, 898

= 1 2,075, 898
EPE T HE
= 1 950, 938, 574
B E ¢
= 1 49, 978, 948
BTl TE:
= 1 8,995, 077
T
= 1 4, 320, 642
T RR A oy AR ST A
= 1 3, 647, 468
AR T
= 1 673, 174
HTE
= 1 1, 407, 579
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PREFE B (ICT)
= 1 352, 983
VAT LRI (ICT)
= 1 1, 054, 596
BUGERRYCESR (K5 1)
= 1 3, 266, 856
HimE R (FE L)
= 1 40, 983, 871
Wi
= 1 1,000, 917, 522
B E m
= 1 137, 940, 505
R 5]
= 1 1, 138, 858, 027
— R PR
= 1 119, 111, 973
Tk
= 1 1, 257, 970, 000
THE B 2 %8
= 1 125, 797, 000
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= 1 1, 383, 767, 000
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